TRAFE T RMEHEEEGOBITRUOMEN F =07 —MIBIT5
T R EE S ik 2 B oRHl (54100 4-14)

1) Whis =2z BEHMh
Ty —bD BFAFE XEEEE EGORBITRIOT =7 —h
SfEE Bt
BB ORI - 28 0 —E R 40
BEOETE 41
e B 40
I A~ R D Fo S 44
TFELFHEIEB OHEE 42
EE ., BEER AMNEA~OXS 37
TmIE 40
A F DSRS0 JL B 39
Fxy7—NQ FFAFE  HEMfEGHERTE S ORI TRIO T =72 —h
e = B
A B - B PR 39
B17.58 e Al o - fesk i B 41
BT A A 403
2) i
B ETEHE R 2 403 = 500 =M = 80.6 % B i (B TL D)

Wi SR BN B 5l (L C\5) THY, ZOFE D, SR4AEE F4AN M ofe e g
PRF T L AT R EA Kk BRI E 2 — O FE 13, WU ERS, B0 BV
—E 2O MENREIN TS,

<A AL R >
E i ERR -2
A (FFIZENTVD) B E R RN R85 % LA
B(fEHT\5) B F R AR R D 75 % LAk
C(#HEITHD) B 5 AT AN 40060 % LA
D(%-5T\3) B 5 A AN AR D40 % A
E (R ThH o) BB R RN 5.0 40 Yo A




